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SAMPLE PAPER 7: PAPER 2

QUESTION 1 (25 MARKS)

Question 1 (a) A(-5,8)
A(-5, 8) — (0, 0) Area = %|x1y2 - x2y1|
B@3,-8)—> (8, —16)
C(6,2)—>(11,-6)
Area = 1[8(—6) —11(~16)| = 1|-48+176| = 1 [128| = 64

C(6,2) B(3, -8)

D(-2, 18) A(-5, 8)

A

B@3, -8) — C(6, 2)
A(-5, 8) = D(-2, 18)

A

(;(6, 2) B(3,-8)
Question 1 (b)

Equation of BC: B(3, -8), C(6, 2)

2—-(-8) 10

m=——==2 (0, 1) =G, =8) | y—y =mlx—x)
y=(-8) = (r-3)
3y+24=10x-30

10x-3y—-54=0
D(-2, 18) ) A(-5, 8)
= |ax] + by, +c|
Na' +b*
d
g 10(-2)-3(18)—54] 128
10* +(=3)* V109
107 +(=3) - :
C(6,2) B(3,-8)

B(3’ _8)7 C(6> 2)
Area = Base x Height
Base:|CB| =(6-3)" + (2— (-8))" =109

Area =+/109 ><ﬂ =128

V109

OR
Area of parallelogram ABCD = 2(Area of triangle ABC)
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Question 1 (¢)

D(-2, 18) 4(-5.8)

A

(6, 2) BG. -8)

8-2 6
Slope of AC: mj = ——=——
-5-6 11

Slope of BD: m, = 1§+§ :_%

tan9=+[ml_m2j= —its
Lemm, ) 1+ (1))

_ 6,26
s.0=tan” (%j =50.5°
I+ (=)



